<u>EB-2021-0118 : 1 : Monika Pecnikova</u>					
COST CLAIM NUMBER 258	SUBMISSION DEADLINE DATE March 02, 2022	CLAIM STATUS Approved by Finance			
EB# EB-2021-0118: Initiatives: Regulatory Direction and Oversight: Ontario Energy Board	OTHER EB#S	PHASE #* 1			
INTERVENOR Pecnikova, Monika; +1 (647) 971-6771 monika@resilientllp.com	INTERVENOR COMPANY* Anwaatin Inc., Hagersville : Corporation	INTERVENOR TYPE Full Registrant			
HST RATE ONTARIO 13.00	EXCHANGE RATE	COUNTRY Canada			
HST NUMBER 78515 4923 RT0001	LATE SUBMISSION ALLOWED No	EXTENSION DEADLINE DATE			

## **PARTICIPANTS**

New	Non-Filing Participant First, Last Name	Filing Participant		Participant Claim Status
No	,	Richardson, Don; +1 (226) 820-5086 drichardson.gll@gmail.com	32,255.85	Submitted

## ATTACHMENTS

Attachment	Attachment Date	Participant	Document Type	Claim Type	Import Message
Anwaatin_Cvr Ltr_FEI_20220302.pdf			Cover		
ANWAA EB-2021-0118 Cost Claim 030220221339.pdf			Letter		
TOTAL LEGAL/CONSULTANT/OTHER FEES 28,545.00	TOTAL DISBUF	RSEMENTS 0.00			TOTAL HST 3,710.85
TOTAL CLAIM 32,255.85	TOTAL AMOUN	IT AWARDED			
REASON FOR DISALLOWANCE	REASON FOR DISALLOWANG	CE - 2			DN FOR LOWANCE - 3
MAKE CHEQUE PAYABLE TO Resilient LLP					
SEND PAYMENT TO ADDRESS 333 Bay Street, Suite 625 Toronto ON M5H 2R2				ATTEN lisa@re	TION esilientllp.com

SUBMIT SECTION

I am a representative of the Party. I have examined all of the documentation in support of this cost claim. The costs incurred and time spent are directly related to the Party's participation in the OEB Process referred to above.

This cost claim does not include any costs for work done, or time spent, by a person that is an employee or officer of the Party as described in section 6.05 and 6.09 of the OEB's Practice Direction on Cost Awards.

The information (fees and disbursements) filed in this cost claim is complete and accurate and in accordance with the OEB's Practice Direction for Cost Awards and Appendix A, the Cost Awards Tariff.

SUBMITTED BY Daniel Vollmer DATE SUBMITTED March 02, 2022

	I	Don Richa	rdson	March 14, 2022
<b>CASE</b> EB-2021-0118: Initiatives: Regulatory Direction and Oversight: Ontario Energy Boar	<b>COST CLAIM</b> EB-2021-0118 : 1 : Mo Pecnikova d	nika	INTERVENOR NAME Pecnikova, Monika; +1 (647) 971-6771 monika@resilientllp.com	PARTICIPANT CLAIM STATUS Submitted
<b>FILING PARTICIPANT</b> Richardson, Don; +1 (226) 820 drichardson.gll@gmail.com	-5086	NEW PARTICIPANT No	NON-FILING PARTICIPANT F. NAME	NON-FILING PARTICIPANT L. NAME
SERVICE PROVIDER TYPE Consultant	YEAR CAI	LLED TO BAR	COMPLETED YEARS PRACTICING/YEARS OF RELEVANT EXPERIENCE 24	HOURLY RATE 330
CV STATUS (FOR				HST RATE
CONSULTANT/ANALYST)	LAST CV			CHARGED
CV Provided within Previous 24 Months	February 2	24, 2022		13.00
HEARINGS	CONSULT	ATIONS	DISBURSEMENTS	
No	Yes		No	

March 14, 2022

## CONSULTATION

	<u>escription</u>		<u>kimum</u> <u>Ho</u> Hours	ours	<u>Hourly</u> <u>Rate</u>		<u>HST</u> Rate	<u>HST</u>	<u>Total</u>
	FEIWG Meeting #1 - June 16, 2021		8.25	8.00	330	2.640.00	13.00	343.20	2,983.20
	FEIWG Meeting #2 - July 9, 2021		8.25	7.50	330	2.475.00	13.00	321.75	2,796.75
	FEIWG Meeting #3 - July 29, 2021		8.25	7.00	330	2.310.00	13.00	300.30	2,610.30
	FEIWG Meeting #4 - August 24, 202	1	8.25	7.00	330	2.310.00	13.00	300.30	2,610.30
	FEIWG Meeting #5 - September 15, 2	2021	8.25	7.50	330	2,475.00	13.00	321.75	2,796.75
	FEIWG Meeting #6 - October 1, 2021	1	8.25	7.50	330	2.475.00	13.00	321.75	2,796.75
	FEIWG Meeting #7 - October 13, 202	21	3.75	3.00	330	990.00	13.00	128.70	1,118.70
	FEIWG Meeting #8 - November 10, 2	2021	10.50	8.00	330	2.640.00	13.00	343.20	2,983.20
	FEIWG Meeting #9 - November 24, 2	2021	8.25	7.00	330	2.310.00	13.00	300.30	2,610.30
	Benefit/Cost Sub⊡Group Meeting #1 December 1, 2021	-	2.50	1.50	330	495.00	13.00	64.35	559.35
	Benefit/Cost Sub⊡group Meeting #2 December 8, 2021	-	7.50	4.50	330	1.485.00	13.00	193.05	1,678.05
	Benefit/Cost Sub⊡Group Meeting #3 December 20, 2021	-	7.50	3.50	330	1.155.00	13.00	150.15	1,305.15
	FEIWG Meeting #10 - January 5, 202	22	8.60	6.00	330	1,980.00	13.00	257.40	2,237.40
	Benefit/Cost Sub⊡Group Meeting #4 January 6, 2022	-	7.50	3.00	330	990.00	13.00	128.70	1,118.70
	FEIWG Meeting #11 - January 19, 20	)22	4.50	4.50	330	1.485.00	13.00	193.05	1,678.05
	Benefit/Cost Sub⊡Group Meeting #5 January 20, 2022	-	7.50	1.00	330	330.00	13.00	42.90	372.90
Consultation	Total Total Legal/Consultant Fees					28.545.00	3	8,710.85	32,255.85
Attachm	ents								
Attachment		Document Type	<u>Import</u>	Message	<u>9</u>				
	dson invoice 115 .pdf dson_EB-2021-0118_Time	Invoice Time Docket							

## Hearings, Consultations, Disbursements Attachments

		<b>Document</b>		
Attachment	Related Disbursement Claim	<u>Type</u>	Claim Type	Import Message
Don Richardson		Invoice	Consultations	
invoice 115 .pdf				
Don		Time Docke	Consultations	
Richardson_EB-202				
1-0118_Time				
dockets.pdf				